AN & O &

LES|H 23tHIS

AP E A A

2A: 2SMSD
M Bz s
&2 2= AN 23 (CH2]: ®M2)
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o GImE=ST;
=l s| E= s 24,661,078 23,558,119 1,102,959
= 1,476,542 1,476,542 0
J| 1,383,344 1,390,844 27,500
= 1,535,966 1,533,266 2,700
= 275,000 75,000 200,000
o 17,790,226 16,882,467 907,759
CH 2,200,000 2,200,000 0
3= &= 7,056,334 6,963,084 93,250
J| 866,699 874,199 A7,500
< 627,072 624,372 2,700
= 25,000 25,000 0
o 3,937,563 3,839,513 98,050
cH 1,600,000 1,600,000 0
230l SHAIER 29 2,058,336 1,989,086 69,250
J| 231,699 239,199 A7,500
< 274,322 271,622 2,700
i 1,552,315 1,478,265 74,050
Zallz 29 275,556 257,806 17,750
301 LEt2d= 0 2,250 2,250
11 HARHIXIR S 0 2,250 2,250
O2o=8Al 24(L, ) 0L 0 2,250 A2,250
307 212t01& 179,000 159,000 20,000
02 QIRHBAIAHE R 118,000 108,000 10,000
OMY|2ZHX| Hat L2t X&
10,000,000 10,000 0 10,000
04 QIZFSHAIAIE E X 61,000 51,000 10,000
OHM423] dEI=0==HM &t X
10,000,000 10,000 0 10,000
LB 2= HAL 208,000 158,000 50,000
201 et 3| 153,000 103,000 50,000
03 A2 153,000 103,000 50,000
OSELE 2383 249
50,000,000 50,000 0 50,000
MEIRSES3 43 K& 9,000 0 9,000
< 2,700 0 2,700
i 6,300 0 6,300
307 212t01™ 9,000 0 9,000
< 2,700 0 2,700
i 6,300 0 6,300
04 QIZFSHAIAIE E X 9,000 0 9,000
OMERSISS 3 435 X
9,000,000& 9,000 0 9,000
== 2,700 0 2,700
o 6,300 6,300
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2AM: 2SS
M 2oz A
ol E230ls AR 2Y (cHol: M)
2A - 2 - A2(SH) - HRAL HE= oL J &3 o =
A 20l=IHA 3,750 11,250 AT7,500
7 0 7,500 AT7,500
& 1,125 1,125 0
= 2,625 2,625 0
308 AHXIHMSOI&E 3,750 11,250 A7,500
7 0 7,500 AT7,500
& 1,125 1,125 0
= 2,625 2,625 0
13 I 2 SOICHEH AN IEFAL 3,750 11,250 27,500
Oxd 2slol=mA 3,750,000 3,750 11,250 AT ,500
| 0 7,500 7,500
& 1,125 1,125 0
= 2,625 2,625 0
M= IBAIdE S 22| 4,596,828 4,572,828 24,000
| 635,000 635,000 0
== 333,500 333,500 0
B 25,000 25,000 0
o 2,003,328 1,979,328 24,000
CH 1,600,000 1,600,000 0
MEBI s3I 2] 617,845 597,845 20,000
201 L2 3| 224,169 204,169 20,000
02 S=2Z| 168,540 148,540 20,000
03223 £ HAl 88, 140 78,140 10,000
0&I|1232 62,600,000 62,600 57,600 5,000
0AlolE= AIE2 25,400,000 25,400 20,400 5,000
O9 =] 60,400 50,400 10,000
OAFE 23I0=32 TAIDEA A
60,400,000 60,400 50,400 10,000
St=E4MHIEetH PRI 2| 40,500 36,500 4,000
201 L2 3F| 18,000 14,000 4,000
01 At22teld| 18,000 14,000 4,000
OJIAHEH] sX2tel & 8,100,000 8,100 4,100 4,000
23R A BE2L 4,144,379 4,132,379 12,000
= 1,476,542 1,476,542 0
7 198,617 198,617 0
== 675,890 675,890 0
B 50,000 50,000 0
o 1,743,330 1,731,330 12,000
Jtor=st -3t 10,000 11,000 A1,000
Jtor=2etd XIEgd 10,000 11,000 A1,000
301 LESBHZ 0 1,000 A1,000
11 HARHIXIRZ 0 1,000 A1,000
OJk=23td gsfis a4 o= 0 1,000 21,000
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A 2SMSH
. 2osa BE2e]
=l A RIXIZL 2 st (CHR: X 2)
A - HH . H2(3H) - HRAK = Of] &K J &3 o Hws2
AMEXIXIZS 43t 588,471 575,471 13,000
= 25,000 25,000 0
(o= 7,500 7,500 0
o 555,971 542,971 13,000
MEX A2 538,471 525,471 13,000
405 XHAHFE SH| 13,000 0 13,000
01 AL EEFHSHI 13,000 0 13,000
g2EHIE2 0oz WXl
13,000, 0002 13,000 0 13,000
288 HsgEs A 13,011,377 12,195,313 816,064
J| 318,028 318,028 0
(o= 233,004 233,004 0
= 200,000 0 200,000
i 11,660,345 11,044,281 616,064
CH 600,000 600,000 0
ZoNsEs 43t 7,973,719 7,907,655 66,064
J| 318,028 318,028 0
== 98,004 98,004 0
o 6,957,687 6,891,623 66,064
CH 600,000 600,000 0
MEZH=ES AR= 2EXH 387,045 332,045 55,000
307 eI2+o| & 332,045 277,045 55,000
02 QIRHBAIAHE R 55,000 0 55,000
OaEz SHM=3 43 X
5,000,000+ 1100 SHMS3 55,000 0 55,000
HESSMSME (IS, A 2SS} 198,700 188,700 10,000
401 AEHIZL O] 20,000 10,000 10,000
01 AI&HI 20,000 10,000 10,000
HE2HRLEH AIE2 S22
20,000,000 20,000 10,000 10,000
ZO0He! M=EnaXA 1,064 0 1,064
307 eI2+o| & 1,064 0 1,064
02 QIRHBAIAHEE R 1,064 0 1,064
OZHe! M=Ewa X
532,000 & *2IH Sl 1,064 0 1,064
20243 MIAHSUE MEZHE 2F 2,000 2,000 0
(o= 2,000 2,000 0
201 LBtAY| 866 2,000 A1,134
== 866 2,000 A1,134
01 AtR22lt] 0 2,000 22,000
020244 M=2HSUS MEHE 2Y
0 0 2,000 22,000
== 0 2,000 A2,000
03 ARSI 866 0 866
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2A: Zstdlst
M HME M=sgs N3
el ZoN=sES 2ds) (Crol: X 21)
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
020244 M=xM=Us AMEZHZE 28
17,320 0%50H 866 0 866
= 866 0 866
301 et Z 1,134 0 1,134
= 1,134 0 1,134
11 HARHIXIR S 1,134 0 1,134
ONMEHZE 29 =]
9,000 *1421%3A1%33] 1,134 0 1,134
= 1,134 0 1,134
SSMSAE 22 2,692,658 3,192,658 500,000
212 HSAEES 2,167,000 2,667,000 500,000
401 AIEBIZL S008I 2,167,000 2,667,000 500,000
01 AlEH| 2,167,000 2,667,000 500,000
OX&EH MIA3TASE LA
210,000,000 210,000 110,000 100,000
OMEE 22l IIA=EE THAY
o 0 600,000 600,000
SSM=EAE 8435t 2,345,000 1,095,000 1,250,000
< 135,000 135,000 0
= 200,000 0 200,000
o 2,010,000 960,000 1,050,000
AR HE A (HEBAL) 550,000 0 550,000
401 Al EHIZL LY 550,000 0 550,000
01 Al&H| 550,000 0 550,000
OAAL2HSE ATAIL (MBHAIY)
550,000,000 550,000 0 550,000
MES 2ol IIASEE LAY 700,000 0 700,000
BN 200,000 0 200,000
i 500,000 0 500,000
401 AIEBIZL S008I 700,000 0 700,000
= 200,000 0 200,000
o 500,000 0 500,000
01 Al&Hl 700,000 0 700,000
OMEE 22l IIA=EE THAY
700,000,000 700,000 0 700,000
= 200,000 0 200,000
i 500,000 0 500,000
HRES (2K D) 419,768 238,123 181,645
S2HXE 419,768 238,123 181,645
22Xz ez 419,768 238,123 181,645
802 Btat=DIEt 419,768 238,123 181,645
01 2 NEX3LHEZ 369,584 215,164 154,420
020234 O|A ZIteat S=FHIAMY Ol At
Al oK 511,400& 512 0 512
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2A:
X{XH -
o /e

cH):

=atMl=
Hess(23tHsn)
SIS

2A - HH . H(SH) - MRAIY - BES Ol ArH J &3 o Hws2
020223 SHIRStHEH 3| ECIEZH
EID; 7,235,040 7,236 0 7,236
020234 HHIZSIME M4 At EEHEIH (0|
pE= 78,466,3802 78,467 0 78,467
02023 SER3I0I1SA ALY EHEH(OIXE
&) 48,046,3302! 48,047 0 48,047
02023 01 THAOHM2E| ALY EISHEHOH (O]
K& 20,157, 2402 20,158 0 20,158
02 Al - EHIBZZEtE=3 50,184 22,959 27,225
020234 01& 2DIR4e EFHIAIY OIXHE
AHOH 113,260 114 0 114
02022 " SHHIZ2SME A At O AHEHa4oK
797,750 798 0 798
02023 01 THAOHM2E| ALY EISHEHOH(Q|
K& 4,235,690 4,236 0 4,236
02023F SHHHIRSSHM ALY Ol XHLH Aok
7,660 8 0 8
02023 SHUHIZSME AL A EEHEH(0]
Xt 3t 15,871,5002! 15,872 0 15,872
020234 SE23I0IEA At ESHTIOH(O|X
LS 5,792,260 5,793 0 5,793
OHoz H&Eote SFOIAIY O AHL A oK
1103 1 0 1
020234 AHE 232 43S XA OIRH
4 4,320 5 0 5
02023 SFwEA s XIZAY TSRO (0| X}
L5 397,800 398 0 398
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